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�D>7D4<<4 E>EF46?5=4 =4 >E=>65 $��% %�� ?> =4?D46?5=<O< 09.02.07 

«�=D>D<4F<>==O5 E<EF5<O < ?D>7D4<<<D>64=<5», 09.02.01 «�><?LNF5D=O5 
E<EF5<O < >><??5>EO» 10.02.05 «�55E?5G5=<5 <=D>D<4F<>==>= 557>?4E=>EF< 
46F><4F<7<D>64==OE E<EF5<». 

 

I. �5D5G5=L M?5<5=F>6 E>45D64=<O, 
?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<< 

 

$4745? 1. «�=D>D<4F<>4 < <=D>D<4F<>==O5 F5E=>?>7<<» 

1. �>=OF<5 < >E=>6=O5 D>D<O ?D54EF46?5=<O <=D>D<4F<<. 

2. �=D>D<4F<>==O5 F5E=>?>7<<. 

3. �=D>D<4F<>==O5 D5EGDEO. 
4. �>7<F<>==O5 < =5?>7<F<>==O5 E<EF5<O EG<E?5=<O. 
5. �D46<?4 ?5D56>44 G<E5? <7 >4=>= E<EF5<O EG<E?5=<O 6 4DG7GN. 
6. %D4=5=<5 44==OE < 4>EFG? > <=D>D<4F<<. 

 

$4745? 2. «�??4D4F=O5 < ?D>7D4<<=O5 ED54EF64 6OG<E?<F5?L=>= F5E=<><»  
1. �E=>6=O5 GEFD>=EF64 ?5DE>=4?L=>7> >><?LNF5D4, <E =47=4G5=<5 < >D4F>4O 
E4D4>F5D<EF<>4 

2. �D>7D4<<=>5 >55E?5G5=<5 >><?LNF5D4. %<EF5<=>5 < ?D<>?44=>5 
?D>7D4<<=>5 >55E?5G5=<5.  
3. �?5D4F<>==4O E<EF5<4: =47=4G5=<5 < >E=>6=O5 DG=>F<<. $4=?O < >4F4?>7<.  
4. $45>F4 E =>E<F5?O<< <=D>D<4F<<.  
5. �D54EF46?5=<5 >5 >5NU<4E 44==OE < E>>D>EFOE 4>EFG?4, E4D4>F5D=OE 4?O 
D47?<G=OE 6<4>6 =>E<F5?5=.  

 

$4745? 3. «�?7>D<F<<74F<O < E<EF5<O D47D45>F>< ?D>7D4<<=>7> 
>55E?5G5=<O»  

1. �>=OF<5 4?7>D<F<4. 

2. $>D<O < E6>=EF64 4?7>D<F<4 

3. �<4O 4?7>D<F<>6 < <E D54?<74F<O 

4. $G=>F<>=4?L=O5 6>7<>6=>EF< O7O>>6 ?D>7D4<<<D>64=<O 6OE>>>7> GD>6=O. 
5. �5D5<5==O5, >>=EF4=FO, F<?O 44==OE. 
6. �D>EFO5 < E>EF46=O5 >>=EFDG>F<<. 
7. �5N5>FO < >5N5>F=>->D<5=F<D>64==>5 ?D>7D4<<<D>64=<5. 

 

$4745? 4. «�47O 44==OE»  
1. �E=>6=O5 ?>=OF<O. �>45?< 44==OE. 
2. �E=>6=O5 >5N5>FO 6 5474E 44==OE < >?5D4F<< =44 =<<<. 
3. �E=>6=O5 DG=>F<< E<EF5< G?D46?5=<O 5474<< 44==OE (%'��). 
4. %FDG>FGD<D>64==O= O7O> 74?D>E>6 (SQL). 

5. �O5>D>4 < E>DF<D>6>4 44==OE. 
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«�=D>D<4F<>==O5 F5E=>?>7<< < ?D>7D4<<<D>64=<5» 

 

 

$4745? 5. «�><<G=<>4F<>==O5 F5E=>?>7<<»  
1. �D>7D4<<=4O < 4??4D4F=4O >D74=<74F<O >><?LNF5D=OE E<EF5<. 

2. �>>4?L=O5 < 7?>54?L=O5 >><?LNF5D=O5 <=D>D<4F<>==O5 E5F<. 

3. �E=>6=O5 <=D>D<4F<>==O5 D5EGDEO: M?5>FD>==4O ?>GF4, F5?5>>=D5D5=F<<, 
D4=?>6O5 4DE<6O. 

4. �><E>>6O5 E<EF5<O. 

5. IP-44D5E4 < 4><5==O5 <<5=4. �4D5E4F<O 6 E5F<. �4E>4 ?>4E5F<. 

 

$4745? 6. «�D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5»  
1. �D>7D4<<=O5 ED54EF64 ?> D45>F5 E F5>EF>< < DG=>F<>=4?L=O5 6>7<>6=>EF< 
F5>EF>6OE ?D>F5EE>D>6. 

2. �D54EF46?5=<5 < D>D<4F<D>64=<5 4>>G<5=F>6. 

3. $45>F4 E F45?<G=O<< ?D>F5EE>D4<<. 

4. �4D5E4F<O 6 M?5>FD>==OE F45?<F4E. 

5. $45>F4 E D>D<G?4<<. 

6. �D575=F4F<<. '?D46?5=<5 45<>=EFD4F<5=. 
 

 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�>EFG?4NM<= 4>?65=: 
7=4FL: 

ý D>?L <=D>D<4F<< < E6O74==OE E =5= ?D>F5EE>6 6 >>DG64NM5< <<D5; 
ý D>?L <=D>D<4F<>< < <=D>D<4F<>==>->><<G=<>4F<>==OE F5E=>?>7<= 6 

6<7=< E>6D5<5==>7> G5?>65>4, >5M5EF64, 7>EG44DEF64; 
ý >E=>6O >>4<D>64=<O < 45>>4<D>64=<O 44==OE, ?D<G<=O <E>465=<O 

44==OE ?D< >>4<D>64=<< < ?5D544G5; 
ý >E=>6O ?>?>65=<O F5>D<< 4?7>D<F<<74F<<; 
ý ?D<=F<?O ?>EFD>5=<O <=D>D<4F<>==OE <>45?5=; 
ý ?D<=F<?O GEFD>=EF64 < DG=>F<>=<D>64=<O E>6D5<5==OE >><?LNF5D>6 < 

F5=45=F<< D476<F<O >><?LNF5D=OE F5E=>?>7<=; 
ý 6<4O ?D>7D4<<=>7> >55E?5G5=<O; 
ý <5F>4O < E?>E>5O D47<5M5=<O 44==OE =4 6=5L=<E =>E<F5?OE < 

D4=?>6OE E<EF5<4E; 
ý F5>D5F<G5E><5 >E=>6O ?>EFD>5=<O 547 44==OE < ED54EF64 4>EFG?4 > =<<; 
ý >E=>6=O5 F5E=>?>7<< E>744=<O, D544>F<D>64=<O, >D>D<?5=<O, 

E>ED4=5=<O, ?5D544G< <=D>D<4F<>==OE >5N5>F>6 D47?<G=>7> F<?4 E 
?><>MLN E>6D5<5==OE ?D>7D4<<=OE < 4??4D4F=OE ED54EF6 
<=D>D<4F<>==OE < >><<G=<>4F<>==OE F5E=>?>7<=; 

ý 6<4O <=D>D<4F<>==OE <>45?5=, >?<EO64NM<E D54?L=O5 >5N5>FO < 
?D>F5EEO; 

ý EFDG>FGDG, DG=>F<< < =47=4G5=<5 >?5D4F<>==OE E<EF5<; 
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ý 547>6O5 ?D<=F<?O >D74=<74F<< < DG=>F<>=<D>64=<< >><?LNF5D=OE 
E5F5= < <E D>?L 6 E>6D5<5==>< <<D5; 

ý >E=>6O E>6D5<5==OE <=D>D<4F<>==OE F5E=>?>7<= ?5D5D45>F>< 
<=D>D<4F<<; 

ý E>6D5<5==>5 E>EF>O=<5 GD>6=O < =4?D46?5=<= D476<F<O 6OG<E?<F5?L=>= 
F5E=<>< < ?D>7D4<<=OE ED54EF6; 

ý >E=>6O ?D>5>F<D>64=<O ?>>4?L=OE 6OG<E?<F5?L=OE E5F5=; 
ý E<=F4>E<E, >?NG56O5 E?>64, >?5D4F>DO, >>=EFDG>F<<, F<?O 44==OE, 

DG=>F<>=4?L=O5 M?5<5=FO O7O>4 ?D>7D4<<<D>64=<O 6OE>>>7> GD>6=O. 
G<5FL: 

ý >>4<D>64FL < 45>>4<D>64FL G<E?>6GN < E<<6>?L=GN <=D>D<4F<N; 
ý ?5D56>4<FL G<E?4 <7 E<EF5<O EG<E?5=<O E >4=<< >E=>64=<5< 6 E<EF5<G 

EG<E?5=<O E ?N5O< 4DG7<< >E=>64=<5<, 6O?>?=OFL E?>65=<5 < 
6OG<F4=<5 6 E<EF5<4E EG<E?5=<O E ?N5O< =4FGD4?L=O< >E=>64=<5<; 

ý G65D5==> D45>F4FL 6 >4G5EF65 ?>?L7>64F5?O ?5DE>=4?L=>7> >><?LNF5D4, 
E4<>EF>OF5?L=> <E?>?L7>64FL 6=5L=<5 =>E<F5?< <=D>D<4F<< 4?O >5<5=4 
44==O<< <564G <4L<=4<<, E>74464FL D575D6=O5 >>?<< < 4DE<6O 44==OE 
< ?D>7D4<<; 

ý D45>F4FL E ?D>7D4<<=O<< ED54EF64<< (�%) >5M57> =47=4G5=<O, 
E>>F65FEF6GNM<<< E>6D5<5==O< FD55>64=<O< <<D>6>7> DO=>4 �%; 

ý D45>F4FL 6 ?>>4?L=OE < 7?>54?L=OE >><?LNF5D=OE E5FOE, <E?>?L7>64FL 
E5F56O5 ED54EF64 ?><E>4 < >5<5=4 <=D>D<4F<5=; 

ý ?> E?>65E=>= ?>EF4=>6>5 7444G< >?<EO64FL D>D<4?L=GN ?>EF4=>6>G 
7444G<, <4F5<4F<G5E>GN <>45?L, 6O5<D4FL <5F>4 D5L5=<O, D47D454FO64FL 
4?7>D<F< (?D>7D4<<G), >5>E=>6O64FL ?D46<?L=>EFL 57> (5U) D45>FO; 

ý ?> 7444==>= ?>EF4=>6>5 7444G<, >?<E4=<N <E?>?=<F5?O < 4?7>D<F<4 
?D>65DOFL, D5L45F ?< 4?7>D<F< ?>EF46?5==GN 7444GG, < 5E?< =5 D5L45F 
<?< D5L45F =5MDD5>F<6=>, F> <>4<D<F<D>64FL 57> E>>F65FEF6GNM<< 
>5D47><; 

ý ?> 7444==><G >?<E4=<N <E?>?=<F5?O < 4?7>D<F<4 >5>E=>64==> 
6>EEF4=46?<64FL ?>EF4=>6>G 7444G<; 

ý >5D454FO64FL <=D>D<4F<N E ?><>MLN M?5>FD>==OE F45?<F; 

ý D47D454FO64FL D5?OF<>==O5 547O 44==OE, D>D<<D>64FL ?><E>>6O5 
74?D>EO > 5474< 44==OE E ?><>MLN EFDG>FGD<D>64==>7> O7O>4 74?D>E>6 
(SQL); 

ý ?D>6>4<FL 6OG<E?5=<O 6 M?5>FD>==OE F45?<F4E, ?D54EF46?OFL < 
4=4?<7<D>64FL F45?<G=GN <=D>D<4F<N 6 6<45 7D4D<>>6 < 4<47D4<<; 

ý >F5=<64FL >5N5< ?4<OF<, =5>5E>4<<O= 4?O ED4=5=<O <=D>D<4F<<; 
ý >F5=<64FL E>>D>EFL ?5D544G< < >5D45>F>< <=D>D<4F<<; 
ý D54?<7>6O64FL 4?7>D<F<O =4 O7O>5 6OE>>>7> GD>6=O; 
ý >EGM5EF6?OFL D47D45>F>G 6<7G4?L=OE ?D>7D4<<. 

  
III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 
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�EFG?<F5?L=>5 <E?OF4=<5 ?D>E>4<F 6 6<45 F5EF<D>64=<O. $57G?LF4FO 
>F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 14 7444=<=. �>?D>EO 45?OFEO ?> >4F57>D<O< 
E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=), 3 

6>?D>E4 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=) < 1 7444G4 >4F57>D<< 
% (D4EG5F=4O 7444G4 3 >F5=<645FEO 6 20 54??>6). %G<<4D=4O >F5=>4 =5 
?D56OL45F 100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 60 <<=GF. 
 

IV. �D<<5DO F5EF>6OE 7444=<= 

 

�444=<O >4F57>D<< � 

1. �?7>D<F<, >>F>DO= >5D4M45FEO E4< > E555, =47O645FEO:  
4) D5>GDE<6=O<  
5) F<>?<G5E><<  
6) 6E?><>74F5?L=O<  
7) ?>4?D>7D4<<>= 

 

2. '>46<F5 >>DD5>F=O= 44D5E M?5>FD>==>= ?>GFO:  
4) ivanov.mail.ru  

5) ivanov@.ru  

6) ivanov_ii@mail.ru  

7) http://ivaov.mail.ru 

 

3. � >4>>< D56<<5 MS Word 4>>G<5=F =4 M>D4=5 ?D54EF46?5= 6 F>< 6<45, 
6 >>F>D>< 5G45F 6O6545= =4 ?5G4FL:  
4) >5OG=O=  
5) EFDG>FGD4  
6) ?D5464D<F5?L=O= ?D>E<>FD  
7) GF5=<5 

 

4. %6545=<O, D4>FO, ?>>474F5?<, 6OD465==O5 >4> 6 G<E?>6>=, F4> < 
?N5>= 4DG7>= D>D<5 3 MF> & (�4==O5) 

 

5. $D47<5=F >4>>7> 4?7>D<F<4 ?D54EF46?5= =4 5?>>-EE5<5? 
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4) ?><E> <4>E<<4?L=>7> 4?7>D<F<4 6 <4EE<65 

5) E>DF<D>6>4 <5F>4>< ?G7ODL>4 

6) E>DF<D>6>4 6O5>D>< 

7) ?5D5EF4=>6>4 M?5<5=F>6 <4EE<64 6 >5D4F=>< ?>DO4>5 

 

�444=<O >4F57>D<< � 

1. �4=4 F45?<F4 

 

�>4 $�� �>? �<4_E?>DF4 $>EF �5E 

1 �?5>E55=>> 
&.�. 

6 &5==<E 173 69 

2 %<4>D>6 �.�. < $GF5>? 179 77 

3 �46O4>6 �.�. < &5==<E 181 71 

4 �64=>64 �.%. 6 �O6< 169 66 

5 �<<FD<564 
�.�. 

6 $GF5>? 172 68 

6 %>>>?>6 �.�. < �4E>5F5>? 201 87 

7 �>?O>>6 �.�. < $GF5>? 174 72 
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%>>?L>> 74?<E5= G4>6?5F6>DO5F GE?>6<N (�>? = «<») � ($>EF < 180)  
�F65F: 2 

 

 

2. �4= DD47<5=F M?5>FD>==>= F45?<FO. '5<G D46=> E>45D6<<>5 OG5=>< 
R1C2? 

 

 
 

�F65F: 58 

 

3. �4?<L<F5 G<E?>, >>F>D>5 5G45F 6O6545=> 6 D57G?LF4F5 D45>FO 
E?54GNM5= ?D>7D4<<O. 
 

Python C++ Pascal 

x=-100 

if x<=20: 

    print(x+7) 

elif x>20 and x<=50: 

    print(x*x) 

else: 

    print(x-12) 

#include <iostream> 

using namespace std; 

int main() 

{ 

    int x=-100; 

    if (x<=20){ 

        cout << x+7 << 

endl; 

    } 

    else if (x>20 and 

x<=50) { 

        cout << x*x << 

endl; 

    } 

    else { 

        cout << x-12 << 

endl; 

    } 

program main; 

var x: integer; 

begin 

  x:=-100; 

  if x<=20 

  then writeln(x+7) 

  else if (x>20) and 

(x<=50) 

  then writeln(x*x) 

  else writeln(x-12); 

end. 
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    return 0; 

} 

 

�F65F: -93 

 

�444=<O >4F57>D<< % 

1. �444=4 5474 44==OE E<EF5<O G?D46?5=<O ?D>5>F4<< 

 
 

�4?<L<F5 SQL 74?D>E, 6>76D4M4NM<= E?<E>> ?D>5>F>6, 6 >>F>DOE 5>?LL5 
10 7444G. 
 

�F65F: 

 

SELECT PROJ_NAME, PROJ_DESCR, COUNT(TASK_ID) AS CNT 

 

FROM PROJECTS NATURAL JOIN TASKS 

 

GROUP BY PROJ_NAME, PROJ_DESCR 

 

HAVING COUNT(TASK_ID) > 10 

 

 

V. $5>><5=4G5<4O ?<F5D4FGD4 

1. %>65F>6, �. /. �=D>D<4F<>==O5 F5E=>?>7<<: F5>D5F<G5E><5 >E=>6O : 
GG55=<> 4?O E?> / �. /. %>65F>6, �. �. &5E4=>6E><=. 4 %4=>F-�5F5D5GD7 : 
�4=L, 2021. 4 444 E. 
2. &65F>>64, �. �. �=D>D<4F<>4 < <=D>D<4F<>==O5 F5E=>?>7<< : GG55=>5 
?>E>5<5 4?O %�� / �. �. &65F>>64. 4 %4D4F>6 : �4GG=4O >=<74, 2019. 4 190 c. 
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3. �G5>64, �. �. �=D>D<4F<>4 < ��& : GG55=>5 ?>E>5<5 4?O E?> / �. �. �G5>64. 
4 2-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 : �4=L, 2021. 4 180 E. 
4. �46D<?>6, �. �.  �=D>D<4F<>4 < <=D>D<4F<>==O5 F5E=>?>7<< : GG55=<> 4?O 
ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �46D<?>6, �. �. �?<<>6. 4 

4-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2021. 4 383 E. 
5. �4D><=, �. �.  �D>7D4<<<D>64=<5 =4 SQL : GG55=>5 ?>E>5<5 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �4D><=. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2021. 4 435 E. 
6. �5EF5D>6, %. �.  �47O 44==OE : GG55=<> < ?D4>F<>G< 4?O ED54=57> 
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